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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 4th Semester Examination, 2020 

ECOACOR10T-ECONOMICS (CC10) 

STATISTICAL METHODS FOR ECONOMICS-II 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Give Classical definition of Probability.
সmাবনার Áপদীর সংjা দাও। 

(b) Define Probability density function.
সmাবনা ঘনt অেপkক কােক বেল ? 

(c) Are mutually exclusive events independent?
পারsিরক বিহɏিk  সূচক ঘটনাgিল িক sাধীন ? 

(d) Cite two situations where Poisson distribution is the appropriate theoretical 
distribution. 
dিট পিরিsিতর কথা উেlখ কেরা েযখােন পয়সন িনেবশন তািttক িনেবশন িহেসেব যেথাপযুk। 

(e) Explain Stratified Random Sampling.
sরীɛত সমসmব নমুনা চয়ন কােক বেল ? 

(f) For a population of six units, the values of a characteristic X are given by 3, 9, 6, 
5, 7, 10. Consider all possible samples of size two from the above population. 
ছয় একক িবিশŶ সমgেকর েkেt েকােনা একিট �বিশŶয্ X-র মানgিল হেলা 3, 9, 6, 5, 7, 10. 
উপিরউk সমgেকর েথেক dই আয়তন িবিশŶ সmাবয্ নমুনাì িবেবচনা কেরা। 

(g) What is Sufficient Estimator? 
পযর্াp pাkলক কােক বেল ? 

(h) For two random variables X and Y 
E(X) = 8, E(Y) = 6, Var(X) = 16 Var(Y) = 36 and xy = 0.5  

Calculate Cov (X, X+Y). 
dিট সমসmব চলক X এবং Y র েkেt E(X) = 8, E(Y) = 6, Var(X) = 16 Var(Y) = 36 এবং 

xy = 0.5; Cov (X, X+Y)-মান িনণর্য় কেরা। 
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2. Answer any four questions from the following:
িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ  

5×4 = 20

(a) State and prove Bayes’ theorem. 

Bayes’-র উপপাদয্িট  িববৃত ও pমাণ কেরা। 

2+3

(b) Show that Poisson distribution is a limiting form of Binomial distribution. 
েদখাও েয পয়সন িনেবশন িdপদ িনেবশেনর একিট  সীমাবd rপ। 

5

(c) Evaluate probability distribution function ))(( xF  from the following probability 
density function )(xf . 

িনmিলিখত সmাবনা ঘনt অেপkক েথেক সmাবনা িনেবশন অেপkক িনণর্য় কেরা। 

 )(xf  xe)1(  for x0  

  = 0 elsewhere 

5

(d) Giving example explain the difference between statistic and parameter. 

উদাহরণ সহেযােগ statistic এবং parameter-র পাথর্কয্ আেলাচনা কেরা। 

5

(e) Explain Maximum likelihood method of estimation. 

পিরমাপেকর সবর্ািধক পছnযুk পdিতিট আেলাচনা কেরা। 
5

(f) X and Y are two random variables having joint probability distribution given 
below: 

dিট চলরািশ X এবং Y-এর মেধয্ সংযুk সmাবনা পুĂ িনেবশন িনেm েদওয়া হেলাঃ 
Y 

 X 
0 1 2 

0 0.1 0.1 0.1 
1 0.1 0.2 0.1 
2 0.1 0.1 0.1 

Calculate correlation coefficient between X and Y ( xy). 
X এবং Y-এর মেধয্ সহগিত সহগাì ( xy) িনণর্য় কেরা। 

5

  
3. Answer any two questions from the following:

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

(a) (i) Prove that for two independent random variables )E()E()E( YXXY . 
 pমাণ কেরা েয dিট  sাধীন সমসmব চলক এর েkেt )E()E()E( YXXY । 

4

 (ii) A and B play for a prize of Rs. 99. The Prize is to be owned by a player who 
first throw a “3” with a dice. A first throws if he fails B throws and if he 
fails, A again throws and so on. Find their respective expectation. 

 99 টাকার pাইেজর জনয্ A এবং B েখেল। একিট ছkার সাহােযয্ েয েখেলায়াড় pথেম 3 
েফেল েসই pাইজ লাভ কের। A pথেম ছkা িনেkপ কের েস যিদ অkতকাযর্ হয় তেব B ছkা 
িনেkপ কের, যিদ েস অkতকাযর্ হয় তেব আবার A ছkা িনেkপ কের। এইভােব েখলা চলেত 
থােক। তােদর pেতয্েকর pতয্াশা িনণর্য় কেরা। 

6
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(b) (i) Find mean and variance of Binomial distribution.

 িdপদ িনেবশেনর গড় মান ও েভদ মান িনণর্য় কেরা। 
5

 (ii) In a sample of 100 workers in a factory the mean and standard deviation of 
wages are Rs. 11.35 and Rs. 3.03 respectively. Find the percentage of 
workers getting wages between Rs. 9 and Rs. 17 in the whole factory, 
assuming that the wages are normally distributed. 

 [ Given Փ(1.86) = 0.9686 and Փ(0.78) = 0.7823] 

 একিট কারখানার 100 জেনর একিট  নমুনা েনওয়া হল। নমুনার মজুিরর গড় মান এবং সমক 
পাথর্কয্ যথাkেম 11.35 ও 3.03 টাকা। সমg কারখানার কত শতাংশ Ëিমক 9 টাকা ও 17 
টাকার মেধয্ মজুির  পােব িনণর্য় কেরা। এখােন মজুির sাভািবক িবstিতেত আেছ। 

 [েদওয়া আেছ Փ(1.86) = 0.9686 এবং Փ(0.78) = 0.7823] 

5

(c) (i) Find the mean of a sample mean in both SRSWR and SRSWOR. Also 
calculate Standard error of sample mean in SRSWR. 

 SRSWR এবং SRSWOR পdিত dিটর িভিtেত গৃহীত নমুনা গেড়র গড় িনণর্য় কেরা। 
SRSWR-র েkেt নমুনা গেড়র সমক Çািm িনণর্য় কেরা। 

4+3

 (ii) Following is the random sample from an unknown population 14, 19, 17, 20, 
25. Estimate the Mean and Standard deviation of population. 

 একিট অেচনা সমgক েথেক িনmিলিখত সমসmব নমুনািট গৃহীত হেয়েছ 14, 19, 17, 20, 25; 
সমgেকর গড় ও সমক িবcয্িতর একিট পিরমাপ িনণর্য় কেরা। 

3

(d) (i) A random sample of 100 days shows an average daily sale of Rs.50 with a 
standard deviation of Rs. 10 in a particular shop. Assuming a Normal 
distribution, construct a 95 % confidence interval for the expected sale per 
day. 

 েকােনা একিট েদাকান েথেক pাতয্িহক িবিkর 100 িদেনর একিট সমসmব নমুনা েনওয়া হল। 
নমুনা েথেক েদখা েগেছ েয  pাতয্িহক িবিkর গড় হল 50 টাকা এবং সমক িবcয্িত হল 10 
টাকা। যিদ ধরা যায় এেkেt sাভািবক িবstিতর ধারণা কাযর্কর আেছ তাহেল pতয্ািশত 
pাতয্িহক িবিkর একিট “95 % confidence interval” িনণর্য় কেরা। 

5

 (ii) Discuss the advantages of sampling method over census method of 
collection of statistical information. 

 পিরসংখয্ানগত তথয্ সংgেহর েkেt পূণর্াñ পযর্েবkণ পdিত অেপkা নমুনা চয়ন পdিতিটর 
সুিবধাgিল আেলাচনা কেরা। 

5

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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